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4422t t40 2nltbp ptI 24 001 590.6:
42221 100 0umthultltht oI 22 80( 44 996,36

441 | l4t4 I'bpl1 pnhpuqltt a2 Itg 70t 480 336,0(
4411 1414 LEpll lunLpuulJtlt Ilc 70( 220 t54,0(
441 I t 400 ,tqnfi wuunu4 DI | 30( 23,8 30,94

441 121 10 Aufibp a2 ptI I 70( 392 666,4(

441 I l412 L b p 11, 2Jt It up u1z u Q u It a2 qe I 00( 60 60,01

441 11417 LuJuulthpll 4c I 00( 25 25,0(
441 I 141 7 LwJuultEpll 4c I 000 100 100.0(

44t I 1417 UuJuwltbpll 92 Itc t 000 50 50.0(
44192700 Lbpq uqlul4rll 2ltltup wpull ult wfu un ubptthltlz hwn | 900 I2 22,80

44192701 Ltp 11 uqlu h) 11 2ltlt u1t ut u 11 w lt u2lu u a wlplt LpJt hum 654 12 7,80

441 12252 hqnguI pI I t6t 200 232,00
44t 63180 't)n4quat Jun4nlull 4c 55( 177 07 2q

441 18300 ftIphq [bnu41u pI 11 00( 30 330,00
44t 12170 Ilzlnlhnul pI 2 00( 400 800,04

441 1 1200 tluElrn Uc JL 2000 100.04

441 12730 9npn4 ullw{unul1/180 hun I 00( 30 30,01

441 12731 Vnpn4 uQulmwll/230 92 huu I 05( 30 31,5(
03121210 7u4 11 u1|L llntqnqf gJt u tt bp UA qFUII 30 00( I 30,1

18141 t00 U2Ju u n w ltpult It A hnlnglt tp UA hun 35( 30 10,5(

39221420 tunquLulllthp UA hun 75( ]J tt ta

39221460 ,{pdJt It It hp 11 wp up u 11 u It UU hun 65( 20 13,0(

30192231 UIInJ UU hun 40( 30 12,(

0,00

10,35

64121200 <Da u u ufi tt unwptuft tunqn tplnLLh bp,tI],]
rhnntnnanaLn/

UU qltutI t0 350 I r0.35

Etl 4 747,89

/<z9Upudllt ulbu LJzQnytutt

Vunupn4 U. U4nlutt
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26 460,00

2 200,00

3 960.00

8q00

201,60

r00,00

100,00

1,60



311714M Ulnrydutlt utyrynLp It hp| fuluut Q fu uth2lt hp UU hutn 80( 10 8,0(

31171400 UIn rytult wry1n qtlthplt |nfu wQ bp ufi2lt hP UU hwn 75( 6 4,54

31 151 120 UQuafiult ulnryrlutlt utty:lntphbp /FM UU hutn 10 00( I) 150,04

31 r51 120 UItfuutJtwlt uhnrytu[t ut4plnLplthp /0- UU hwm 90 000 I 90,00

31 151 I 70 U wp n Snglt hpJt lltgp tu tlnpJz2 It tp UU huu 55 000 I 55,0(

31500000 (nruutlnpfinb uupphp It tyhllnpwllult 1uttft4hV
335,15

31531 100 QhQupwQwlt ptlt4hlt UU hutu t1 000 o 66,00

31531 t00 (1h I qt wQ ut It 1ut rfi4 h1t UU hutu I 500 20 t70,0[

31531100 tlhQupuQwlt lwdulhp /Ied UU hwu l1 400 o 68,4(

31531 100 fihlnpulluth lutqhp /Ied UU hwu I 250 15 18,75

31587[ffi 2t uwttplt 1 wp tluEnq4ulr lluFq ut4nph2 UU hutu 40u 3 12,0(

322&n00 nu4JznhhnulunuhbpJz, mt4lnhhnutq]rptttpll, nu4lnhLnwplwlltluth h hhnniuuutuhuunplult hu4ryt4f2

uunpuinnnultthn

107,3(

32251300 GSM hhnutfunulttn UU htuu 17 90( 2 35.8(

322s1300 GSMhhnufunulthn UU huu It 50( I I L5(

32231 700 IlutglutltLp UU hun 15 00( 60,0(

324100000 Sutltohn 212,5[

32411160 3 u ttgutl lz It bp pn4 uqt|2 h tp UU hutu 25 204 I 26.2(

3241 t 160 Sultgqlttt pwduttJt2 UU hutu 12 004 5 60,04

3241 I I 60 5 ut lgulJtlt bppnul uqt|2h hp UU, hwn 11 700 5 58,54

3241 1 160 9 u ItgrilIT lt bppn q w qtJ2lt Lp UU hun 22 600 3 67,80

441Moffi ih&wn wnultuth funtBhp lt hwputllltg wpuIn4Fwtlp

44163250 Uh u ltshs & n It h U nnp/ u lp ugLnq u upp UU hun 6 500 r3,00

441 I 1412 LhpQ, 2lzltutpwpaQuth 92 Uc 1035 400 4r4,00

441 I 1412 LhpQ, 2ftttapwpuQuth 4' Itq 1035 650 672,75

.4111412 LLpQ, 2fthwptulzwllwlt a2 ttc 1035 50

441 I 1417 Lutluultbpll 92 Qc 1051 300 315,00

441 I 1417 LwluuhLpQ Qc 9U 250 225,0(

441112M SLtILItu a2 Itq 6( 3000 180,0(

441 I 1414 LLpll lutnhpuutfltlt at 4c 70( 480 335,0(

44111414 Ltp!'pntpuwllzlt o2 Itc 70( 220 154.0(

44t I 1400 Uufunll wnwuuut4 cl,2 ptl I 30( a2a 30.94

441 t2t I0 Uuttllhp c2 DII I 70( 392 555.1(

44111412 LLpQ,2ltttupwpuQuttt q2 4c I 00( 60 60.04

441 I 1417 LuluultQtQ Itq I 00( z) 25,04

441 I 1117 Lwfutulthpll q2 lq I 000 100 100,00

441 I 1417 Lufuwhbpll a2 4c I 000 50 50,00

.14192700 LLp Quqpt4TQ 2lz Lup upuQutt wfu un wltpbbp| hntuT 4,2 huu r 900 I2 22,86

44192701 LhVUuqFttthU 21t ltwp up utllult utfu unwlryb hp| hurlwp hun 550 t, 7,86

441 12252 Fqn4w{ pI I 160 200 232,06

414163180 aln4uluuL lun4nrtull c2 Itc )JU 97,35

<t4118300 @l4ah4 rlbutr4lut cI2 ptI 11 000 30 330,0(

44112170 UIntLnuI ptr 2 00( 400 800,0(

441]12N Shdhltn a, Uq 5( 2000 t00,0(

441 12730 Vupn4 ullutttunwQ/|80 Q.' hutu r0u 30 30.0(

44 I 12731 Vupn4 uQutlunwQ230 hwu I 05( ?n

383N000 ?uttlztlwlt qnptiphhp 45,0(

38341130 tlhQ np ut Q utlt t4utp wthnp hplz 2utrlzrlult qnptlph bp UU hun I 501 2 17.0(

38341 130 tltQ up ul1 u It q wp u ft np hp]t 2utrtt rlu lt qnptftp[t hp .UU htuu I 50t I Z0(

38341 130 ElhQnp ul1 wlt u1 wV utdhnp bpl 2utr/ttwtt qnpElrylt Lp UU hwn 11 0U l 11,4

397MMt) Vhlryryu4ft& uhluhltllut 41475

39713432 2n*ltnu /600 4n twnohnt UU hutn 18 850 282,75

39714100 2aufinful4tthp UU hwn 3 806 7 26,60

3971 1270 Qhnnghtp UU hun 37 806 I 37,80

3971 1310 4tuqo2ulul uwTltQhLp UU htuu 18 006 54,00

3971 1220 il h h np ult w It untrh {z tt hp UU hun 5 00[ I 5,00

39714100 fuut{tnfulryhLp UU huw 4 50( I 4,6(

398N000 UutpDnn L thwntgbnn wnuw4nuthp 112,03

39839300 GltutQ dlnLlt [upphln huttup UU hun
' 

)UL 5 27,5(

s9831262 2t4nQ otutnlt putfuJt2 uupp /4nquunp UU hwn 5A 5 2,54

39831283 2 u n ut Qlt 1tt ut g[w It 1up UU hwn 100( 15 15,04

39831281 Uu1 u llz tlutpV tIu It 1up UU hun 122( I 1,22

39831247 Ilfunuhuhn4 hb4nil1 uuthhwltqnqglz hwtlup fuuuthlntp UU hutu 9A b B.5A

3981 r 100 O4lt gap{ugnrylt2hhp UU hun 35( 5 I,75

39831240 Uuppn4 t4nLphp UU hwu 294 10 2,90

39831284 2uuutQlt rlwpptw lt h h4ntQ /fu uut L4ntp UU hun 2400 IJ 36,0[

39831281 Ut4wQft dutgptlwlt ltup UU hwn 280 7 1,96

39831242 t{-eph 4"21 dhnpnl 1(wltulnt hutwp UU hwn z)L 10 2,5(

39831245 Otm, htnntlt UU hutu 18U 4



302N000 2utailtutnqsurhh uunpwilnnnullthn It ltnryhn 996,50

30234640 fuLz hhznnnLptnfi 16GB UU hwu 4 00( 20 80,00

302371 13 AnhhQunp ,41gnp4bbp/ UU hwu 20 00( I 20,00

302152M UuqllzuwQ wtt putpn hp l1wp4ugm1 uu4php UU hwn JOtu 5 28,00

302371 13 Vnlt hQ nnp /I1gnp4tt fut/ UU hutu 5[ 200 t0,0(

30234540 51b2hl2n4nqapilt 15GB UU hua 4 00( 50 200,0(

3023741 I Ul1 ttlt 11 hwtutll utpqath Lt, yap n 4 UU hwu 17MI ? 34,0(

302371 I2 UhnLgtutt p1nl1 UU hutu 3 50( 5 /zs(
30237240 2wdugn hgrrqll Ir u tuutJugJz 11 h hp UU hutu 5 70( 10 57.0(

3021 I I 90 II hllt w Q tu h h w [u Q tuptiJt2lt h1t UU hun 540m( I 540,U

4430000q Uuln{u h hp, dbuw4wlutlt tp lt hutput l1lry arynu4pu &p h tlt 4928(

44322530 Uwlntluutfi h fi wgnttlh hp UU hwn 70( 10 7.0(

.14322100 Uutnrfu hwtlwltunath, WP cable 6 level UU thnp 10( 305 30,5(

4431 I 160 Uhuu4wdn4hp UU Uc 4t)( 6 3,2(

4431 I 160 Utuutudanhp hc 40( I 000 400.0(

4431 I 180 Enuthotlutlt hnuahn UU 4q I 12( 5 5,6(

44322220 UwBLfu q4hl,h pqhanl, [twfuwutulwt ALnpht [nttnud[ailt UU tlhup 65t 50
44322200 Uwtniu, (7 hllu p wl1 w It 1 u p UU lhnn 7 00( 2 14.0(

0310ilx0 41n q ut u [tu huutlt ut lt It ryq hqn ntwll wh ut p u ut4p utltp

03121210 Au4 Q w/t lt 11 n tq n qllgl1 w tt hp UU 4ltutd 45 0U I 45,(

03121210 q U u4hlt Qn rlqnq hgllw Ir hp UU 4ItrutI 30 00( I 30,1

444m000 9u ltuqut [t ry unp uuu]z upnu4lt uthp It hutput Qlg utt4p uhphhp 215,3

4441 1752 9n1t f.p hutu 21 5A I 172,4

44423600 Vurnfi dtuwuuJhhhhn UU hwu 40( 10 4,1

4441 1760 9nquputhlt pryalt pn ltut 11 UU hwn 2 30t 3 6.9

444412n q ltah h q{" p wnw hgpw l1w1 h h p UU hwu 6 00( 24,4

4441 1742 9n 4up w tt wlln lry| [ha w ltbq I UU hun 2800 3 8,4

425000(n 4nlutotuth h otuiznfututlt uunphn 312,4

42521200 02 Q hltgulutlltt qlpwnlutt hn{hutl4b hp UU hwu 3 904 80 312,4

384KMA0 friqh + utQut h hututQ w llt2h bplt uun qtuth qnptltph hV 213,5

3841 1200 Qhpdulufihp UU hun 2 200 50 110,0

3841 1200 Qhptwsutfihp UU hwu 69 900 I 69,9

3841 1200 ahptwsutfihp UU hun 800 42 33,6

42IMO(M Uhfu uthhh uh ult tlt hnahatrh utnuunn [uh lt oqu usnnt[ult ILph hutlt hn 163,0

42131220 AwQn4 fiutQutltttbp UU hun 4 000 20 80,0

42141 170 vgnp4l2tthp UU hutn 300 60 18,6

42141 170 Vgnp4JUIlhp UU hum 300 60 18,I

42131 170 9pw1/t It hn uphpfi Supqut./nptlrw,,hullutttlt bp UU hun I 40[ 3 r'2

42121570 'tlnrlw hnh lt unI h hn nth It hnh wtpw ndht lt hn h [w u hn UU hwn 20 000 I 20.I

42121570 tl ntut bph lluttI h hantll It Lp lt udputpl.lz2lt hp/t tlutu hp UU hurn 6 000 ?

42121570 1) n [r4 tp lt U ut rI h hqnilt Ii hpll utputpt/t2lt hp lt [w u hp UU htuu 400 6 2.4(

42121570 Antq hph 11 ut[ h h4nil1 It bpl wtptupAJ4lt hpf dutu hp UU hwu to/ 0,5[

4212r570 t)n[r4 hpJt Qntd hb4n! IthpJt utlpupAlz2hbp]z tlutuhp UU hutu r33 0,4(

42121570 Andq hplz Q wrl h L4nLIltt hpl utpupAlqlt tplt twu tp UU hutu 5U 2,0(

42121570 t)n&a hplt 0utf hfu nilt t] bph udputpl'l4hhplt tlwubp UU hun 45 t0 0.45

42121570 'r) ntr4 bplt QwtI h t4nt0 h hph wrlpupAltlh hplt rlutu bp UU hutu 5( 20 I0(
42121570 Antq hplt 8 a[ h hanil1 lt hpJt ut [pwplft2lt hplt tlwu tp UU hwn 1L 8 0,0t

42121570 AntuthpJl Qu[ h L4nQ hhpJt uttputpd]2h bpJz tuu hp UU huu I 30 0,04

42121s70 An[q hp]z llutrl h h4nQh bp] wtlputpdlt2h tplt tlututp vu hutu I 40t I I
42121570 'r)ntq tpJt Qwt ht4ntQh tplt utpwpdl2ltbplt tlutu hp UU huu 2 50( l 2.

222MM0 Ipuqptp, phpphV, I4utlzphputllutlt rfiit{nq lt uttluutglt tV 24,3

2221 1200 4)w2nn hw 11 ut h uttuutqp hp UU hun 484 I 4,8

2221 1200 a) w2un tt wQut tt wtuwqp hp UU hwu 3 50( I
2221r2m l)u2nnb ulltu b tu tlu uqp bp UU han JJW l J.J

22211200 4) w2rnn ttu 11 u It u [uuqp bp UU hutu I 804 I t,8

2221 t200 4)u2mhuQult utuuqphp UU hwn t5a 6,0

2221 1200 't) w2un ttw 11 ut lt wtuuqV bp UU hwu I 504 l 1,5

222il200 4) u2m ltut 11 u It uttluut q p bp UU hun 32U 1 3,2

312MM0 Elhllup utll u hntpltu tt pwfu tlw tt lt tlhp uhu lltlw It uwppw (ryzniltt bp 11 699,t

3121 1500 4 hp 1up rlut h uuthrlut hutrlut Qlt2 It bp UA hutu b 004 J 45.4

31211500 t hp 1up tut lt u wlttut btu{twQlt2lt fu /OAU-6/ hwn 19 500 18 351,0

3I2I 1500 4 hp 1 utp tut lt uwhdw ltu{tu IthS It hp/OAL- I 0/ c2 hwu 20 104 82 I 648,2

31221500 9n ultuSnn rlut unn hn uu ltph /25/6/ c2 hutu 940 006 I 940,0

31221500 9 n u lt t$n n lu m n hn u w It p h,25/ I 0/ htuu 885 20t, 2 I 770,4

3121 1300 Vntntnwnnnlthn 92 hwn 315 00( 17

31211300 Vn[ntnuttmnhbn q2 hutu 530 001 I 590,(

244ffi000 't)wpuPuutl4ntptp b utqnuf illtutgnrylnilttthp 569,1

24451141 Ufu nuhultlts hb4ntQ hptpLp UU huu 95( 100 95,(

24451 I4I U fu n uth u hJry h h4ntQ h1n tpbp UU hun 7 001 1 7,(



24451141 Ulu n uh u t$2 h L4n LQ I4n Lp t1t UU hwn 806 100 80,0

24451141 Ufu wah wlt /tS h h4n il1 funtphp UU hwu 60c, I4 8,4

24451141 Ufu u uhut ttlt2 h t4n t 11 l4nqabp UU huln I 300 I 10.4

24451 150 funpu['ftlt F UU 4e 4 504 o 27.0

24451 141 Ufu n uhu hltS h h4n zQ t4nzphp UU hun 8U 100 80,0

24451 141 Ufunuhw ltlz2 h h4nil1 hptphp UU huw 800 100 80,0

24451 141 Ulu n wh w tt 14 h h4 n LQ l4ntph p UU hwn 806 r00 80,0

24451 141 Ufu nuth w hJt2 h h4 nQ l4nLpbp UU hun /JO 100 73,6

244114m Uhnt2ut4ltplt ut4ltpu UU hwu 106 , 0.2

2445r 141 Ufu u whu hl4 h hanil1 ttlnryhp UU htuu )JL 50

81000a) dthuthwlt uutnpbn 801,t

33141 129 ']JztIwQ UU hutn 186 50 9,0

33141 129 ']ltttuQ UU hun 120 200 24,0

33141 129 lttwl1 20 UU hutn 550 I7 st
33141 129 '|rt[wQ /10 UU httu I 120 17 19,0

33141 129 1fitul1,rI0 UU hwu 2 25( 9.0

33141 129 ']lttutll /10 UU huu I 29A 7 9,0

33141 129 llttlutll6 UU hwu I 894 l7 32,1

33141 129 'lulul112 UU hutn 490 9 4.4

33141129 ]htwltE hwu I 5'U 7 10,9

33141 129 lhtIub /1 UU hutu 350 140 49,0

331 41 129 $tut1 UU hun 200 t0 2,0

33141 129 ]htluh /100 UU hun b0 23

33141 129 $[aQ UU hum tt/. 100 22,0

33141 129 lltttwQ UU hun 374 r00 37.0

33141 129 lJztuQ. UU hun 180 200 36,0

33141 129 lfuIuQ UU hutu 175 1000 175,0

33141129 $tul1 UU hun 85 r000 85,0

33141 159 trd211 ul1 ult Atnltngtt bp, n2 un tpf1 UU qnull 60 40

33141 156 M2llutQult ALnlngttbp UU hutm 19 300 5,8

33141156 M2QuQu[t dhnttngtthp UU hun 56 200 10,0

331 41 156 M2t1utl1 ut lt dhnhngtt hp UU hutn 5A 400 20.0

33141 156 M2llullwlt Abnltnghhp UU hwu 230 100 23,0

33141 156 cdlltwIttuh dhnhngbhn UU hwu 4A 500 20.(

33141 129 rlzttwQ UU hwu 54 1000 54,A

K]I4IT29 \zrlutQ UU hwu 5A 1000 50,4

33141 I 10 edcbwltuttt pu[aalt UU huu 154 t0 t5
33141 I 15 ,tJtTwllutt4bV UU hwu 120 t2 1,4

33141 I I I Untnth d bnql) htnz duwutr| h lt uttnw lt It h nntJ UU hua 750 3
331 41 131 \atnLIt uwtnw[thlthn UU hun 56 t6
33121 180 Up1wlt th2tIuh 2wr|tfiutt uutpp UU hun Jttu 1l,0

3e14rr29 'IJttlwll UU hwu 804 50 40,0

33141 129 lttlwll UU hwn 45 500 ?75

fi7KNM U hd,hut Quth lu Itut rlglz n1 utpuqult t1t I IO 2

Kt731200 0 w2ur4tu It/tS hunnil1 utll ltngll hp UU huttn 764 20

33761000 Qn 4 w p ut ltlt pn q p, nn L1 n In { UU hwu r30 200 26.0

337613U 2hnpl p4ph uppJrylthp UU hun 784 100 78,0

181000(n Uutu huqlz uutQtt h huqnruu, huunil1 upuuthutqnun It q upuqw lthp

181 I 1200 U2lu ut u ut ltpu4l It Qn [pf t$qn tt .UU hutn 980 t3 12,74

18141 100 U t fu u u u It p w r h h I hn ltnolt h n UU hutu 754 50 37,5A

18141 100 Uzfu unw ltpw th lt d bnhnoh Ln UU hwu 344 b 5,10

181 I 1 100 Up uut4p w Q u tt h w un il1 huqn ruu UU htuu J JUU 40 220,00

181 I 1 100 Up u w4p ut 11 u h h w un il1 h uqn Lu n UU hutu ) )UU 10 55,00

181 I 1100 Up w w41o w Q w h hurnnill huqn Lun UU huttn 71 000 t t42,00

18141 100 U2lu wu utttpwllt tt A hn hngtt h1t UU hun 30 t0,50

r42N000 Uluq It \ut{ 99,10

1421 I 100 u(wq UU tIS 5 004 0,7 3,50

14211110 vtwPulP UU UJ 3 006 q8 2,40

142II1A Ulutq UU ,I3 12 T2A 3,3 40,00

142111r0 tutrutpwp UU tM I1 8U 3,0 35,40

14211100 Utlwq UU [3 7 006 0,7 4,90

14211 I 10 tutwputp UU UJ 5 006 0,8 4,00

1421 I 100 u4*q UU tls 7 00( 0,7 4,90

1421 I I 10 tutruputp UU LEJ 5 00[ 48. 4,0(

.U8M000 t'hp 11 hp, 1utghp It tlutaftulth hp,/rltruulz 11 ut hhlz/ 336,00

44Kt1500 nfihtbhn UU .thun 84( 350,0 294,00

.14831501 (nttJt2ltbp UU tJr-p 84[ 5q0 42,0(

4260(nU) 2uuungltEp 5,il,
42671 180 2bnplt qnptftptthplt [uutp /ruhh UU htuu 4,0 2,8(



42671 180 2hnplt qnptltplt hpl [u u hp UU huu 7U) 4,0 2,80

197mdn UlthphnJz! ntuJth It [ultVutphl 8424
I 9721 100 U| QahuJz 11 dtt ltp upbtrltg lutp u ttb bp UU {bnp 180 100,0 18,00
19721 100 Ul hph ult Q [u try uphtrlzg 1up u lt It Lp UU tlhup 202 320,0 66,24

I58MMO 91n t4ut n ha huw Qtl lt uutpput{npn uIIt tp]z It u hu unufli h u hn tunLplwh rlwu h1t 2A4K
1681 I 100 91nt4uu ltn buutllut lt uupputlnpnttllt hplz dzau hp UU hun 2 60( 4,0 10,4(

1681 I I0l 91n t4 ut n ltu h uwQu It uuppw {ryznulIt hpl [utu hp UU huu 50u 2,0 I0,a
I88MUn vn2!b4bh 50(
1881 1230 VJz uut tJtuput {np Qn2lt 11 It hp UU qnLlq 5001 I 5,0(
3920tu00 lulnpwhB 129,85

39241250 U un hpJt [fut ut n (u h 11 u ury) UU hwn ZJ)L 1

39221460 4pAlh hhpllupwpwllutlt hlutthlt UU hutu 7A 2, I(
39221460 ,{1t Alt lt tt tp Q tup wp wQ ut It UU hwu 800 IA 8,0(
39221460 ,{pnJzlt tt tpll utp wp wl1 wlt UU hwn 300 1A 3,0[
s9221420 frmqutttutQhhp UU hwu 500 1,5[
3922r420 unqwltuQlthp UU hwu 7 200 t4,4(
39221420 'nqwltwQhhp UU hwu I 45[ I tr'q
39221490 Ur4niltqlthp UU hun 200 TA 2,0(
39221460 ,{lAlz It tt Qt Q utp up w Q ut tt UU hwu 2 200 I 26,46
39221460 rltd,lt It It bp 11 upwp ut Q u tt UU hun I 651 9,94
39221470 Ivtau uJlutuutlttul UU hutw I 001 I 2,0a
39221290 ofutltll UU huu / JUL 22,54
39221420 tunqultwlllthp UA hun /JL I) 11,25
39221450 {pnJz tt lt bpQryiapuQ ut It UU hwn 65( 13.04

395@000 UnwplluttttT llunplg 998,U
39531700 nqLqnpqtll UU huu 154 4,5(
39541110 OupwltltLp UU dtnp 85( I 000 850,0(
39541 I I0 Sqtuhhbp UU tlbup 5U 30 I5,OL

39541 1 I0 'Dqtuttlthp UU [hup 70( 1( 7,0(
39515440 O u7 4 wh ut1 ut g 2 bp n u { w p u qn t1p UU d2 4 501 22 121,5(
&t6N000 1 hqwgry&w l1ut h wp awryz ut ltg 100,68
33691 147 (dniltut4ntphp UU tJtult 7 00( 14,00

33691 147 tdnthwt4nqahp /imidia UU ilt.p I1 00( 22,00
33691 147 (dnL[tutltlnLphlz UU tlrt, 9 00( 18,00
33691147 tdnthut4nqaLV UU ilzaF 6 004 12,00
ss691147 @nthutt4nqahp UU th-p 6 000 q5 3,04
33691 147 @niltutl4nqabp UU th.p 5 004 0,5 2,5(

336312260 Ug h nJ4u tu 1 /tglt 1 utpp n t, [uC Ii h q hn ulh h f,n n op u hn BO 1 AC3O UU huu 1/U 1,I t
33621761 Ubnu[fqn1 ( [hnuilftqnfiz ltutupJznul N02BB02) UA hun 8A I t,3t
33661122 tltulutr4Vltl ( th ut1utt4pl41t tlutlhuw ), hlz41enp1npnpfiuqft4 UU htuu 554 I] 6.0:
JJOOI IZ/ bhltnprytpltnwl n03oo02 /, upt/wln{ UA huu 1/J 0,7(
3366tr19 3n4 D08AG03 UU hutu 30t 2,4(
33621320 Qutpughnu[n1 n02be07 UU hun 8( 26 1,6(
33621320 Uhuutlltqnl ( thuutlzqnl Lutmp/tnuI), uplwgbnnuQh a-

nnlnthltmu$nltwu N02BB72

UU hwn 78( IU 7,8(

3366t 131 V w u I ulun n 4 b4 u un L, q u npl lt2 4 h4 uttnn t, w hw LntJu
t4qt4L4wthtt HNlSCM /OgLpnry[ Ilunlufuu] 2sQ/

UU hutn 2A 5 1,0[

33621520 hau{ufunn 4b4utunt, qwnpltlp 4h4unu, uhubntJu
wnuLnurhlt HNOSCM / lmtnthnhtnnh nhtn

UU hutn 11( q44

ss591236 Plnpnr4ltputdltlt /R05AC03, D04AA09 UU hun 831 8 6,64
31700000 Elhllupnltut/zh, tThllulzutrlhluuhJzllwllwlt lt hhlluputnhlutthltutltuh utwnuquthhn 5n,84
31 7t 1500 UJzfutnAututllupqhp UU hun I'U 60,( 9,0(,

3l 71 1500 UJtfunhw[utQupqbp UU hun 30 60,( I 8('
3171 1610 2ltn4lthp UU hutn 1A 350,( 3,5A

3171 I 170 ElhQrytutllutlt llntt4L|tuumphbp / UU hutu 4( 60,( 2,44
3171 I 170 blhQnputllult Qnl4Lhuannplthp / UU hun 5( 60,1 3,04

3171 I 140 lttluaplt2ltht UU hwn 60,( 0,36

31 71 I 140 ltrlualzJz2ttbp /1,{k UU hun 2( 60,( 1,24

sl7I I 140 2|du41zJrybhp UU hutu 5( 50,1 3.0a
3171 I 140 fitluuylt2lthV UU hun 3( 120,0 3,6(
3171 I r t0 t 1 L 11 upn Lu4 lt It put4 ut4tt h,t h t F UU hutn IU 60,0 6,0(
3171 I I 10 t7 b Q npn |tulJt It put4 uu11lt2lt tp UU hwu I0( 100,0 10,0(

3I 71 1500 UltllpnhututQupqhl) TI UU huu 50,0 2,5(
31711500 U|futnhututQryzqbp UU hutu b0l 50.0
31 71 1500 UJtQpnhafiuQupqhp UU hutn 100 15,0 I,5(
31711500 UlfunhufiyQwpqhp UU hun 150 240 3,0(
31711170 tlLQultwQutt lnlt4httuumpltbp / UU hutn 30 JU.U 1,5(
3171 I I 70 tlhQnputlluh Qnl4bltuuttmplthp / UU hutu 501 50,0 2,5(
31711170 tlhQnVuQutt Qnl4httuumltltLp / UU hwn 1001 50,0 5,U
3171 I 170 tlhQnVutQuh Qnlt4hhuumltltLlz / UU hun 100 50,0 5,0(



3171 1500 Uhltnnhwdtuhwpshp A UU hwn 804 60,( 48,04

3171 1500 Uhhnnhutuhunchn O4l UU hwu 660 70,( 46,20

31 71 1500 UhhnnhutrlutUunqbn US UU huu 296 70,( 20,30

31 71 1500 Uhltnnhwtwhwnahn L UU htuu 52[ TM,L 52,00

3171 I 170 fuLltnnwltwlt bnhnhltuuunnLbn / UU hutn 120,( 3,00

3171 I 170 Uhhnnuhult hnluhltuurmnlttn / UU hun 20 50,( 1,00

31711170 QLQultwQult Qnl4hltuwnnpttLV / UU hun 50,( 1,00

31711170 ElhQnpwQwlt Qntt4hltuumphLp / UU hwn 36 50,( 1,50

3171 I 140 7h[unphstttp BAS2| UU hwn 3[ 100,( 3,00

3t 71 1710 9nwhohunnn[thn AOD UU hwu 25[ 50,1 t2,50

3171p10 Snutnhunnnltbn AOD UU hwu 40( 5q0 20,0(

31711710 SpuhqJzumplthp AOTF UU hwu 37( 50.0 18,51

3171 1710 SpultqrtumplthV UU hun I 28( 100,0 128,0(

3171 1710 Sputtqfiunnphhp UU hun 6( 100,0 6,0(

3171 1710 Sputtqltumnphhp Bqt6 UU hwu 5[ 100,0 5,0(

31 71 I 710 SpuLqltunnplthlt UU hwu 2( t00.0 2,01

317.r t 710 Spwltqhunnphhp UU hwn 2( 100.0 2,0(

317t 1710 SpwltqltutmpltbV UU hwn 3( 100.0 3,0(

3171 1160 hhbnntnhbn ,3 UU 4q 350( IJ 52,5(

31711160 hhhunnnlttn /4 UU Itc 504 75,0t

323000u) ahnnLuuut- lt nu4Jznpt,lnthlz2hhp lt Autlltut-l1u[ nhuuqT[ult Qu[ {hpupuu4lttlutlt
--,-^-,,I-^-,,ft L-

4 4040(

32341240 Otdb4wonrcl4ltLp UU hwu 700 00( 4,0 2 800,0(

32341240 lTLdL4uonLoltShhp UU hutn .n0 00[ 4,0 I 600.0(

35100t)00 U n n u It ut n a h n u I htut h It b n a uI b hn unlnn It u ltd uut hon tmut h u w np h n I 125,0(

351 I 1240 huu 30 00( 1( 30,04

351 I I 130 ttnultfwnhthLn /qa- a) hun 12 001 8Z( I 044.04

351 I I 130 Vntrh[unhthhn mU q2 htuu 17 006 3,( 51,00

241NOM 9uqtp 3,54

241 I I 180 Gpduthtt UU [3 l/i 20,( 3,54

196M000 VutttJh, uhpuuhth, nhuhlth lt wtuuntwuuutth Hn,intIIIhn 3400

19642200 'llq h tpht b ltuth h un wpu ut4Jz wltp UU Itc I 0001 30,( 30,00

BlMAN 4n n uuttuhuwbuttt lt utnhanntwbutlt utnuwnnutltE 25,0

03121210 7ut4 11 utllz It Qn [ry nq]tgllu It hp UU 4puitI 25 000 I 25,0

159&nM llwbtholthn, thtutfunn It hunuthho wnuunnuhp t,tI)

1591 I 100 Uuilrp- UU tl-p r 100 5

316&n00 tltQup utllut It uatpgbT lt uwppu{npnilh tV 84,U

31681 140 t th Q up a\u It put4uaplryh hp UU hutn 84 000 I 84,I

429M000 ?lt 4h w tt n ry It h w u4 L 11 og u w qnp ttu h qut It uq ut tt tl hp h h ut lt bp 45,06

42961280 Tftutahttubplthp UU hwn 15 000 3 45,(

195N000 Vuntlndt Ltwtuuntuuuw 4,54

I 951 I 700 tI h nh lt utw un ilut an ntl uttph tn ho h wtn L[t dtuwu I h lt tt hn UU [bup 15( 30 4,5

424N000 Utlputp{t2 It uh4utfulun4 uutpphp b tlpwhg rlutubp 2,8(

42431 100 7 h lt utl utp tlut lt tJ uh u tt utll tt tp UU hun 2 80( I 2t

358M00t) Ulthuuutbult It dutttnuh uutnphn /huanLuu,/ 272,0(

3581 I I 70 1u{uqghuu UU pwQuq[ 4 50( 16 72,(

3581 I 171 ZwduqqLun UU lpwlluqd 100 00( 200,(

30r00000 QpuuhhltttllulJzlt tlhtpltuthtp, uutpput{npniltthp It ttlnryhp pwgwnntpryrlp hututllupgh2hhll},
nuththhnh lt buhnuoh

30192121 9phS qliahqw4np UU hwu 5( 200 12,(

30192131 Ub4 w lltll wQwL 11 ut[ up lr4 lunlnlt hp UU hwu 50 2/

30197235 fu p u t4 w ltutll uttlp w ln I UU hwn 42A 200 84,t

30199410 hltp hw l1t4lntlt pnt4 p A4 UA hun 55 500

30r92231 uQn) UU huu 404 30 t2,(

lU2fuwnuthplttp I 82 856,8t

452m000 Chhpbplz, 2lthnrylnthtthplz Qut[ 4putltg dutuhp]t QwnLglult ut2luwtnuhphhp I 7 121,53

45261 124 9u ltltplt bpl 11 hp ut lnpnq [u tt wfu w uw ltBhtp 4) 4ttwI 2 419 060 I 2 419.06

45261 124 ,u tthplt hph tl hpwltnp nqtutt tu2luunuttplt hp a2 4putI 4 402 470 I 4 402,4i

45231 136 Cdut4utll w2luut nut ltplt bp hnuultpuqttplt funIup 2UU IFUnI 300 00( I 300,00

45404n0 lbhphnh, fi hntnnilthhnh nltpwshlt I hnutlnnnqtuh utfuuuwfuptt bn I 74 892,34

45461 100 Jh Iu bn h, th tnuatn ilt It bph nltpush I ltnnngrlw b utzfu utuutltp It bn nnuI 8 300 76( I I 300,75

45.161100 Ch try bp|, 2/ttnryapiltlthplz pltpwgltQ ltryznqtw It tufu u nu ttp h hp a2 4putt 12 600 10( I 12 600,1[

45421 I 15 Aufl1 hplz u h4urptlutlt utfutiluw[rph bp 4PuI 33 873 541 I 33 873,54

4544t 160/2 2 w 11 u Qmnqlnlt \tutQnqplz l/ry untult w2lu uuutrpti tI1 c2 4lat 20 1 17 94( I 20 1 I 7.94

4151M000 Cfb qz ryt uQtu It hp wulup wlllt t4tu u1t utu udu It w2luw uw ttptt h1t 93,0(

451 I 1240 U q ut [n ltn udtlut It tufu uuut ttpb hp UU 4ItrnI 25 001 I 25,0(

451 I 1240 U q u [n L n uddu tt u2lu u n w Lpf.t hp UU 4Fu{ 68 00( T 68,04

453000tM CJtltutp utp u Q uh [a huudqlt h ufuuuu hpb h1z 75A04

4531 r t 46 U11 |TLQ qt uQu It tIn ltuwdtqf tt ufu uttn uLplt h1z UU 4Itu{ 350 00( I 350.04

4531 I 147 Q1 tThQ qz wQ w tt dnfiuutdtu/tlt wfu wnultplt hp UU 4ttuI 4100 00( I 400.04



fwnwptplathhhp 293 906,4)

72411100 2 u [ugru hgq] h tunuln qapt It lt hp r.fut unryn4 h hp (irp) UU 4nutd 960 004 t 960,0(

642MilM I h nah u4 ryt4 ul1 g du lt t un u4 n tpla t h tt bp 126 500,04

6421 1250 Uppw ttlutll ufi tt Quult rtwpAw Q u1n Lplw h hunqntpln t h tt hp A?' 4ptuI 120 000 004 I 120 000,00

6421 I 120 Ultgp ut4 upqlt L h hnutfunu u4ltlt \wnu4nqapiltb hp UU lIFutl 6 000 00[ I 6 000,00

6421 1 130 Fy2utjt It h hnwlun utt Lp lt tunu4ntplnilth bp UU 4Iiutl 500 0u I 500,00

09310000 *1hl1upwQwltnry1nilt UU llPwI r08 000 0N I 108 0N.00

411M000 FItutQutlt 2nry UU DFuld I ].ft] 004 I 148,00

41 I 10000 Uqhptpnry UU 4putl I 000 006 I 000,00

41 100000 FhuQutt 2nLp UU 4FarI 148 000 f r45,00

65211;tO0 cl'uqh pwllunil UU tlPwtI 7 &n 004 7 000,00

561M000 Fult It u h lt It lt hnn nnLtutt h lt tutnutn twniltlt hn I 995,60

661 I 1200 tru It llqlt tt Eutnqn tpln t It It hp UU !)pwtI I 920 00[ I t 920,00

661 I 1300 'I L qnqtf u w/t tt hunulnqapilt tt bp UU 4IiuI /' OUL I 75,60

90511150 U4ph q\nfuuaptu[t tunulntplntlth hp UU 4Fad 800 004 I 80400

909M000 Uupp[uh h uwL]zua4zuhJtqlthh]I1 &anrynry1nfilthV I I 95,00

90921 100 Ufu u uh u tt lu tt tlut U wpn L]ttt bpll n2tqwgtut tt bwn qn qapL [t lt hp UU 4FaI rc0na 180,00

90921 100 Ufunuhuthrluth rIutQ upnqth bp lt n1 hsutgtlutlt Sunwlntplnt hlt hp 4pur{ 15 00(, 15,00

641M&n rDnuu wfi h b u, Lnhw h4u If wlh h bwnryn ry1nthh hp

64121200 ylt lt wnwp{u tt tutouln Lp1ru h It hp 4IzwrI 450 00( I 450,00

54121200 cDn uuutlJz h untuptlw h &unwlnqapft h bp UU 4Fail 200 00( I 200,0(

64121200 Qnuuutjt It unwp[w It tunwlntplnLltb h1z /lI/] rJz wuuutpp\l UU 4FwII 30 033 I 30,03

64121200 @nunurhtt wuptu[t bwuntotnthtt bn /1]'] rhuunwnnpbn/ flff 4Fu[ v )/t I e,56

64121200 Qnunutt h It tunupdut lt tunuta uatnt It h hn /ft1 rhuunupn phn / UU 4puII 10 45t I 10,46

64121200 rDnuuu/t tt unwplut h twutlntplnth It tp /I]r] rttuunwp4pbp/ UU 4IztiltI r0 35[ I 10,35

72300M0 9t/1ut 1tt tplz h hn ! utt4tlutt tunulntplnilt It hp 18 534,0(

7231 1240 S tt1 tu 
1 

It hplz fi n_lu w h gtu tt t un u1n tpln t h ant 4l1wI 12 000 00( I 12 000.0(

7231 1240 St/1 u1h Lplt fufu w It g[ut tt hunuln tpln ilt 4FwI 6 534 00( I 6 534,0(

501MoM Onluut4ltutdlz2nglttVlt h huputUltg uutpptplz tltpailtnpngdwlt, t4uthr4tttlt[afi lt 4putltg 5 000,0[

50r11170 U r/ mrlLp h ltu tt hplt t4uthry w tnlut h &utnwlnllalnlh II tp q.2 qpurtl 7000u I 700,0(

5011il70 U{tnn fhp h hut h hp /z t4u.tht4rr h tluth tunut ptplnilt h hp q.2 4FaI 2 000 00( I 2 000,0(

501 I I 170 Ut/ mthp h lt u It hp/t q wh q u It [wlt bunu1rup1niltlt hp a2 4Fu[ I 000 001 I r 000,0(

50111170 Ulnn [hp h hut It hp lt uluth q u It tIw It tunryn zp1nilt h tp q.2 4lrwI I 300 00( I I 300,0[

637M000 Odut ltnw h tu n wn tnn t h h h n sw dwp u t h h, 9 n w h [] It o4u t h lt thn fu wn n u [hpn stt h n h I 6822t

63721 180 Lu t\|q w g.ltn h 6wn qn tpln ilt tt bp w[hu 140 60( 1 687,21

507000M Gbbphpnul nb4wQutltlutt uwppbplz t/hpwltnpnqtwh It r4uhuluft[wlt tunulntplniltlthp I 860,0(

507511m 4 hph ulttthph { hpulnpngtuttt lt quAt4ultdult FCU2 alhu 65 00[ 780,0(

5075r 100 {hn h wllhhlh t/ hputlnpngtutt It q whq utltttult s2 wthu 90 00( r 080,0(

702N0@ U hAhutll uh ut h2upd gnqpfi {updulluptplut It hut t hq hlqh tunulntpynth h Lp 3 5140(

70221|M Ol plttult h t h tu Ltwnd qn qph Iwndul!ut ntBtult Uutt t hqh ltch UU 4nutI 3 510 0U I 3 51q01

655M0M Uryuhnluqptut lt It 11 hhuutp2u luz1lz h &rnu4ntplnth h hp I 042,0(

.55511 170 @nJu u4p u tlJt2nglt bprt h hn lury{utt utt4 uhn{uqpuQw It UU ww{ 955 00( l 965,0(

6651 I 170 Anfu up uQ2nglt tpJt h tu Q ur4{ut wt4uhn 4wgp wQ w Ij UU 4FwI 20 00( I 20,0(

6651 1 170 Onluu4pu{tgnottLplt htn ltwq/ut wqwhn{uqpult wh UU 4Pw[ 19 00t I 19,0(

5551 I I 70 On fu unnudhpnoh hn h h hn b uwtlutE uwuhnduanu but h UU 4Pud 19 00( I 19,04

6651 I 170 Anluu4lz w tlryngtt hpJt h hu Q ut t4 tltut tu q uhn I wqlt w Q ut lt ut-( 4PwI t9 00( I 19,04

7l6AXn0 S hlu hlt Qut llu h {tnpd,up!1dw h, {tpp dnryluth lt Junphp4utu {a zFluth &nnnlnq?lnlh h bF I I14,86

71631 I 10 Uutppbp lt urmtq[ut h Sutnu4ntplnt hh hp UU 4pwtl 26 4A I 25,4(

71631 1 10 Uwppbpf uun Lqtwlt twnwlntplnfi [t hp UU 4ltwtt 70 00( I 70,0(

71631 I 10 Uutpp bp lt u nn q [u It tunulntpln t [t h bp UU nnaI 5 28( I 5,28

71531 I 10 Uutppbp lt uun4{ut h twnulntplu lth bp UU ITnWI 13 20( I r3,24.

5030@00 Uhdttulluttt hwdwhwFqhsttbnhh, qputuhltlutllutllttt uupghpltlt, hbnwhu4np4utllgduh h 500,04

50311120 2wtltuh wnosutthlt uunptnh dLnu Innnotutt It w wh wwlttlult UU nnwI 5OO ML I 500,04

798N)iln Squqputlluttt lt 4putlt untryln4 tunu4ntplnilthhlt 355,04

79821 170 Sutuanultult lt wnup[uh bununtotnilthbn UU hun 8( 500 40,04

79821 1 70 Sw wo n u ltut lt b untprlut h Sunuttntwnz h It bn UU hun 7L 500 35,06

79821 1 70 Swuanuthutlt h unutpttult twnutnLotnLb b t n UU hun 9( 300 2Z0C'

79821 170 Sq uqlt u 11 u tt lt mupdut lt tmrynqapLtt It Lp UU hutn 3 50( 40 t40,00

79821 I 70 SqutqpwQtult It unutprlwlt tunwlnqapth h bp UU hutu 3 50( t0 35,04

79821 I 70 Squtqtwll uh L unwp[uth tunqntpln ft L bp UU huu I 800 18,00

798t I 100 fululth u t4 wgpntpl w lt hunqntpln ilttt Lp UU hun I 500 20 30,0('

7981 I 100 @lu th tt n wuann LDruill Eunun LDn Lh h h n UU hutn I 000 20 20,0[

7981 I 100 Otlut h h nw wonnrpui h tunun LHn L b Ir bn UU hun 1 000 10 10,0(

505M(no Il|i[uuhqntpluh b ryu2nquthntpluth Qnrytp]z tltpuhryzng[uth b t4uht4uththttt bunulatplnilt 35,0('

5051 1200 Vp w 11 [upJz2h bpl tt bp u4ft gtu {np tu lt twnwln Lp1nilt It tp UU hum 35 000 I 35,0(

983oMM 9u It uq u ls tun u1n tplnt h h hp I8N,0(
505N000 Antqfufi, llwlnLlphhplt, tnpullhhplt h [huuttlutlluh llnttuhlltbplthlt]t lt uutpptplz {hpwhnpnqtuh It 875,0[

50531 140 rDnn Auto h ltntmtut lt bunwtn Lornt It It h n UU nnuttl 180 00( I 180,0(

50531 140 <Dnp dup h hn qalu It tmrynqap fi It hp UU 4putI 120 00( l 120,0(



5053 I 150 Auqql It uutltphpJz u1 whr4wlt tlult SwnqnLplnLltttblt UU 4pwII 145 00( I 145,01

50531200 H L h u n u h w It u w nph n h, u u npw iln n n uJh h n h I t n u tn nno [u It lt nnwI 180 00( I 180,0(

50531200 b httun ult ult uunphn h, uunpwlnnnultt hnh tJ hnwltnnna fult lt UU 4PuI 250 00[ I 250,0(

7130040 Ftdhtt bp ut 11 ut lt tunqn tpln ilt tt hp I I 939,62

71351540 9 tfu blzQ w Q w h hu Qn4nqapt It \unqnqapilt It hp s.2 4PwtI 402 361 I 402,36

71351540 S hlu I$11 u 11 ult hu Qru1nqa1 u It Eunqn qap iltlt bV 4l1wtI o// 1/z I 677,47

71351540 Sh fu It lt Q w 11 u lt h u l1n4n tBlw [t tunu pqap ilt h bn 4nwu 160 126 I 160, ti
71351540 t hJu hft Qtulltu tt hu Qnqnqtlw h tmulntplnilt It hp a) 4lia[ 243 072 I 243,0)

71351540 thfu ltltS uQ w lt h ull n4 rup1 ult bwn w1n tpln LIt lt hp s2 4tzat 46 668 I 46,67

71351540 thfu I$Q u Q w l: hulln4nqalwlt Swnqntpln Lltlt hp 4parI 84 924 I 84,92

71351580 UL1udftl1 bunqnqap:zlt a) 4ltwd 125 00( I 125,00

71351380 Ufuutltll tunqnrylnilt a2 lIItutI 45 006 I 45,00

71351380 UhludJtQ tunalnqaptlt 4putl 155 00[ I b5,00

98IMMO Uh4tutIwlgnry1wh {pu hlzthtlub lluqtutllbpqnrylniltlthpl t/pw hlttllnlut Iluq[utllhpqnLplnilttttl{t lln4Qtg
thunnt nIn n lnmnrrnt otnt h h Ln

363,68

981 1 1 140 2b4] It u 11 wllttt h u Qn4nqal w It tmryn qapL|t[t Lp
hn)tt nnrhhn

UU 4purI 203 244 I 203,24

981 I I 140 2 hn h ltut huth h hu hnn nuatu [t tunwnlqnlltl) hn UU 4lzaI 160 440 I 160,44

796M000 Ufu utuulltgh hplz hutdutllt rluth tunwlnlplnilr h UI 155,00

79531200 Uzfu u n u h holt Ln h I bnww wun uuu fu tt \unurn tpn tb lt t n UU nnu{ 25 004 I 25.0A
79631200 U2fu u n u l1/tgtt bp lt { L p u q ut np wu n lw lt twq n t 91 n ilt It h I UU 4nwrI 20 000 2 40,00

79631200 U2fu u utwlltltgh bpl t/ hp w q u up u u n[u lt 6unqn Lpln Lb It h p UU 4ltwtl 90 006 I 90,00

79700000 2 buuphh2uluh It u lttluutltqntplwlt tunulnzplniltltbp 96,00

7971 I 110 Zp2b2 w L{nu Lqn tp1u L tlutuItuqJt uugqwt tanalnq4nfi lt hp UU 4lad 96 006 I 96,00

996M000 clltnul 2hut lnyf uutgul tnl tuluuhp I 7 000,04

722M00 Jnutgnutthlt uul uhnilutlt lt fu nnhnnuuluhuth tunutntptnthh tn 600,00

72241300 7p tugp w {np [u It 6un qn Lpln ilt hp UU 4Fad 600 000 1 600,04

79400000 ,eltqh tu h 11 unw{up [ult ]uaphp4utn{nryapilt L hup ullltg tunqntpln t h h hp 120,04

7941 1210 thuh uu lu It h t n Q utq tlwt /u nphp4un { w Q w It UU IFUrI 120 000 l 120,00

79rU)000 hp utt/utpuhut 11 ut h tu nuln tpln [t It t7 22400
791 I I 100 hp u t/ u 11 utt /unphp4u ntln Lp1 ult hunu]nlplnlltlr Lp UU 4ItutI 200000 I 200.00

79131 100 I-nwlut lluh dtuuuuranphnh h hu lt tuw ilut Smwn uarnL[t It tn UU nnwI p 00a I 12.04
79131300 lL Q np n Itulltlt umF uqpn Lplw lt h u tl wunuqp tu l] UU 4Pwd 3 004 3,0(

79131301 \ L ltnnn hunhtt umn uannrDtu It h urJ uuuuan [u b UU nnwI 3 004 l 3,0(
79131302 UU nnwI 3 004 2 6.01

9060(,m0 Punupwthlt hwt atnurathurh lutnhnnLt [upn[wlt It uutlthnunutltult It hunultho 183.0(
90621 100 2t w L tlutpntw lt tutnurntmtnthlt tn UU nnu[ 47004 47.0(.

90621 100 21u It tlwpp rltu h btnulntpln ilt h hp UU 4lw[ 86 00a T 136,04

793M000 CnQryf It ultubuuqlznullult hhnutqnanrplnlltlrbl, huFgnulhhp lt tllzttuQutqlznlll1nlh 465,00

79341230 Utnry4 L fulz h hn Qutq lutt 6unqnLplnLltlt hp UA 4Iiwd 465 004 I 465,04

455M000 CJzhulturyulult [hphltutlttplz It uuttgtpf {utpdwllwlntplnilt ttpthut{utplz htu tIhllnb4 82,0(

4551 I t00 anntltll It hplt tlwpdwQulntplnft [tphhut {wplt h h n [hl1 n h q UU 4PWII 54 000 l 54,0(

4551 I 100 Vnnztt Q It b4ft t/updutl utlnqap ilt tlhp htttuttutpJt h tn ttblw h4 UU 4ParI 28 004 I 28.0(

92.tO0000 Ohpphpn uI h qu up u1n tplnilttt hlzlz ut4 utqp [ut lt tunwlnrpln th 240(

92421 I 00 @bppLpnul hrynryt qznLpln Lltlt bplt n q utqlt tw h 6 un u1n Lpln LIt UU 4purtI 20000 I 20,0(

792M0M 2 tu2tlut t4 uth utQu It, un qlt unp utll ut It It hutp 11 ryft h &unw1n tplnt h h hp 3600

79221300 Uwpuwllt tt tllt2hnp4lt (pp np tp) tunrynLplnzlt It b1t UU htuu 76000 l 36,01

Ftt' 442 913,4i

9unu1tn1 U. Uqnlult


